
MATHS

BOOKS - SAI MATHS (TELUGU ENGLISH)

INDEFINITE INTEGRATION

Problems

1. If

+ constant then (a,b,c)=

A. 

B. 

∫ dx = a log(x2 + 4x + 5) + b tan− 1(x + k)
x + 5

x2 + 4x + 5

( , 3, 2)
1
2

( , 1, 2)
1
2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bWWSzV9slet4


C. 

D. (1,3,2)

Answer: A

View Text Solution

( , 3, 1)
1

2

2. Evaluate the integerals. 

A. 

B. 

C. 

D. 

∫√ex − 4dxon[loge 4, ∞].

tan− 1( ) + √ex − 4 + e
√ex − 4

2

2√ex − 4 − 4 tan− 1( ) + e
√ex − 4

2

2√ex − 4 − 4 cot − 1( ) + e
√ex − 4

2

√ex − 4 − 4 tan− 1(ex − 4) + e

https://dl.doubtnut.com/l/_bWWSzV9slet4
https://dl.doubtnut.com/l/_xboP0LWp6VJ6


Answer: B

Watch Video Solution

3. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫e−x tan− 1(ex)dx = f(x) − log(1 + e2x) + c ⇒ f(x) =
1

2

ex − e−x tan− 1(ex)

x2 + e−x tan− 1 ex

−e−x tan− 1(ex)

x − e−x tan− 1(ex)

https://dl.doubtnut.com/l/_xboP0LWp6VJ6
https://dl.doubtnut.com/l/_1l8B60AGOocc
https://dl.doubtnut.com/l/_ISlKeDrRJvbV


4. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫(√ )dx =
2 + x

2 − x

2 sin− 1( ) + √4 − x2 + c
x

2

cos − 1( ) − √4 − x2 + c
x

2

sin− 1( ) − √4 − x2 + c
x

2

2 sin− 1( ) − √4 − x2 + c
x

2

5. 

A. 

B. 

∫ =
dx

(x − 1)√x2 − 1

− + c
√x + 1

x − 1

√ + c
x − 1

x + 1

https://dl.doubtnut.com/l/_ISlKeDrRJvbV
https://dl.doubtnut.com/l/_bsSbPXXw7REB


C. 

D. 

Answer: C

Watch Video Solution

−√ + c
x + 1

x − 1

√ + c
x2 + 1

x − 1

6. 

A. 

B. 

C. 

D. 

Answer: C

∫ dx =
ex(x2 + 1)

(1 + x)2

+ c
ex

x + 1

− + c
ex

x − 1

ex + c
x − 1

x + 1

ex + c
x + 1

x − 1

https://dl.doubtnut.com/l/_bsSbPXXw7REB
https://dl.doubtnut.com/l/_Fd9Gq1MnWoSg


Watch Video Solution

7. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ =
(x + 1)dx

x(1 + xex)

log
∣
∣
∣

∣
∣
∣

+ c
1 + xex

xex

log
∣
∣
∣

∣
∣
∣

+ c
xex

1 + xex

log|xex(1 + xex)| + c

log(1 + xex) + c

8. ∫ [log(g(x)) − log(f(x))]dx =
f(x)g' (x) − f' (x)g(x)

f(x)g(x)

https://dl.doubtnut.com/l/_Fd9Gq1MnWoSg
https://dl.doubtnut.com/l/_GdnzlsR5Wsqs
https://dl.doubtnut.com/l/_GZb7PitRpmSi


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+ c
log(g(x))

f(x)

[ ]
2

+ c
1

2

log(g(x))

f(x)

+ c
g(x)

f(x)

log(g(x))

f(x)

log
∣
∣
∣

∣
∣
∣

− + c
g(x)

f(x)

g(x)

f(x)

9. 

A. 

B. 

C. 

∫ = g(x) + c ⇒ g(x) =
dx

√sin3 x cos x

−
2

√cot x

−
2

√tanx

2

√cot x

https://dl.doubtnut.com/l/_GZb7PitRpmSi
https://dl.doubtnut.com/l/_jPqqAsHlIwbU


D. 

Answer: B

Watch Video Solution

2

√tanx

10. If ,

where C is a real constant then 

A. 3

B. 0

C. 1

D. 2

Answer: B

∫ = + + C
dx

(1 + √x)√x − x2

A√x

√1 − x

B

√1 − x

A + B =

https://dl.doubtnut.com/l/_jPqqAsHlIwbU
https://dl.doubtnut.com/l/_DTcqUFfFM3mG


Watch Video Solution

11. For any integer , let . If 

 for , then the ordered pair

(a,b) equals to

A. 

B. 

C. (n,1)

D. (n-1,1)

Answer: D

Watch Video Solution

n ≥ 2 In = ∫tann xdx

In = tann− 1 x − bIn− 2
1

a
n ≥ 2

(n − 1, )
n − 1

n − 2

(n − 1, )
n − 2

n − 1

https://dl.doubtnut.com/l/_DTcqUFfFM3mG
https://dl.doubtnut.com/l/_eCdqoxV25Mgk


12. If

in which c is a constant then A =

A. 

B. 3

C. 2

D. 1

Answer: C

Watch Video Solution

∫ dx = A tan− 1( ) + c
(x2 − 1)

(x + 1)2√x(x2 + x + 1)

√x2 +x + 1
x

1
2

13. ∫ex( dx =
2 + sin 2x

1 + cos 2x

https://dl.doubtnut.com/l/_KgIPtGxq6vpd
https://dl.doubtnut.com/l/_xXJiZkS2lgaA


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ex cot x + c

2ex sec2 x + c

ex cos 2x + c

ex tanx + c

14. 

A. 

B. 4

C. 2

∫ dx = tan( ) + p log∣
∣sec( )∣

∣ + c ⇒ p =
x − sinx

1 + cos x
x

2
x

2

−4

https://dl.doubtnut.com/l/_xXJiZkS2lgaA
https://dl.doubtnut.com/l/_KeS0G4Hzye9x


D. 

Answer: A

Watch Video Solution

−2

15. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ = I + c ⇒ I =
dx

x(logx − 2)(logx − 3)

log
∣
∣
∣

∣
∣
∣

1

x

logx − 3

logx − 2

log
∣
∣
∣

∣
∣
∣

logx − 3

logx − 2

log
∣
∣
∣

∣
∣
∣

logx − 2

logx − 3

log|(logx − 3)(logx − 2)|

https://dl.doubtnut.com/l/_KeS0G4Hzye9x
https://dl.doubtnut.com/l/_bmHmDbPssARr


16. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ =
dx

x2√4 + x2

√4 + x2 + c
1

4

− √4 + x2 + c
1

4

− √4 + x2 + c
1

4x

− √4 + x2 + c
9

4x

17. If

,

then k is equal to

∫sec2 xcosec4xdx = − cos3 x + k tanx − 2 cot x + c
1

3

https://dl.doubtnut.com/l/_bmHmDbPssARr
https://dl.doubtnut.com/l/_MFXc3MVEXASM
https://dl.doubtnut.com/l/_3uWg5fX5Ys05


A. 4

B. 3

C. 2

D. 1

Answer: D

Watch Video Solution

18. 

A. 

B. 

C. 

∫ =
dx

√x − x2

2 sin− 1
√x + c

2 sin− 1 x + c

2x sin− 1 x + c

https://dl.doubtnut.com/l/_3uWg5fX5Ys05
https://dl.doubtnut.com/l/_jgLPUgZ65adZ


D. 

Answer: A

Watch Video Solution

sin− 1
√x + c

19.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫(√ ) + √ dx
a + x

a − x

a − x

a + x

2 sin− 1( ) + c
x

a

2a sin− 1( ) + c
x

a

2 cos − 1( ) + c
x

a

2 cos − 1( ) + c
x

a

https://dl.doubtnut.com/l/_jgLPUgZ65adZ
https://dl.doubtnut.com/l/_kBPzomSEXxd5


20. If  then A=

A. 

B. 

C. 

D. 1

Answer: A

Watch Video Solution

∫ dx = A sin 2x + B,
sin8 x − cos8 x

1 − 2 sin2 cos2 x

−
1

2

−1

1

2

21. 

A. 

∫ dx =
1 + cos 4x

cot x − tanx

− cos 4x + c
1

4

https://dl.doubtnut.com/l/_kBPzomSEXxd5
https://dl.doubtnut.com/l/_yCGGCyRV1wIW
https://dl.doubtnut.com/l/_mZGFdFccdYxW


B. 

C. 

D. 

Answer: D

Watch Video Solution

cos 4x + c
1

8

sin 4x + c
1

4

− cos 4x + c
1

8

22. 

A. 

B. 

C. 

D. 

∫ dx = f(x) + c ⇒ f(x) =
7x8 + 8x7

(1 + x + x8)2

x8

1 + x + x8

28 log(1 + x + x8)

1

1 + x + x8

−
1

1 + x + x8

https://dl.doubtnut.com/l/_mZGFdFccdYxW
https://dl.doubtnut.com/l/_8J4GAiR6LLl8


Answer: A

Watch Video Solution

23. If  is repeated n-times),

then  dx is equal to,

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

fn(x) = log log…. . logx(log

∫(xf1(x)f2(x)…. . fn(x)) − 1

fn+ 1(x) + c

+ c
fa+ 1(x)

n + 1

nfn(x) + c

+ c
fn(x)

n

https://dl.doubtnut.com/l/_8J4GAiR6LLl8
https://dl.doubtnut.com/l/_OIebrtXMG3jh
https://dl.doubtnut.com/l/_BrCYz8XMVT65


24. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫(1 − cos x)cosec2xdx = f(x) + c ⇒ f(x) =

tanx

2

cot x

2

2
tanx

2

1

2

tanx

2

25. 

A. 

B. 

∫ =
dx

(x + 1)√4x + 3

tan− 1 √4x + 3 + c

3 tan− 1 √4x + 3 + c

https://dl.doubtnut.com/l/_BrCYz8XMVT65
https://dl.doubtnut.com/l/_7EVHz1dhbF3S


C. 

D. 

Answer: C

Watch Video Solution

2 tan− 1 √4x + 3 + c

4 tan− 1 √4x + 3 + c

26.  dx is equal to

A. 

B. 

C. 

D. 

Answer: A

∫ ex
2 − sin 2x

1 − cos 2x

−ex cot x + c

ex cot x + c

2ex cot x + c

−2ex cot x + c

https://dl.doubtnut.com/l/_7EVHz1dhbF3S
https://dl.doubtnut.com/l/_FV8f8oVSWE4H


View Text Solution

27. If , then  equals to

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

In = ∫(sinn)dx nIn − (n − 1)In− 1

sinn− 1 x cos x

cosn− 1 x sinx

−sinn− 1 x cos x

−cosn− 1 x sinx

28. If  constant, then f(x) is equal

to

∫(ex) dx = f(x)
1 − sinx

1 − cos x

https://dl.doubtnut.com/l/_FV8f8oVSWE4H
https://dl.doubtnut.com/l/_aAWVi22zfGsI
https://dl.doubtnut.com/l/_FxAwLGDdicbK


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

ex cot( ) + c
x

2

e−x cot( ) + c
x

2

−ex cot( ) + c
x

2

−ex cot( ) + c
x

2

29. If  for , then c,  is equal

to

A. 

B. 

C. 

In = ∫xnecxdx n ≥ 1 In + nIn− 1

xnecx

xn

ecx

https://dl.doubtnut.com/l/_FxAwLGDdicbK
https://dl.doubtnut.com/l/_ag9mw2Wssk6X


D. 

Answer: A

View Text Solution

xn + ecx

30. If  + constant, then f(x)

is equal to

A. 

B. 

C. 

D. 

Answer: C

Vi T t S l ti

∫ex(1 + x)sec2(xex)dx = f(x)

cos(xex)

sin(xex)

2 tan− 1(x)

tan(xex)

https://dl.doubtnut.com/l/_ag9mw2Wssk6X
https://dl.doubtnut.com/l/_tmGvJwz2RDvb


View Text Solution

31. If , then f(x) is equal to

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∫ dx = f(x) + c
ex − 1
ex + 1

2 log(ex + 1)

log(e2x − 1)

2 log(ex + 1) − x

log(e2x + 1)

32. dx is equal to∫tan− 1(√ )
1 − x

1 + x

https://dl.doubtnut.com/l/_tmGvJwz2RDvb
https://dl.doubtnut.com/l/_QFxaqcAg3yeI
https://dl.doubtnut.com/l/_MIfRoo4JTryh


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(x cos − 1 x − √1 − x2 + c)
1

2

(x cos − 1 x + √1 − x2 + c)
1

2

(x sin− 1 x − √1 − x2 + c)
1

2

(x sin− 1 x + √1 − x2 + c)
1

2

33.  is equal to

A. 

B. 

C. 

D. 

∫ dx
sinx + 8 cos x

4 sinx + 6 cos x

x + log(4 sinx + 6 cos x) + c
1

2

2x + log(2 sinx + 3 cos x) + c

x + 2 log(2 sinx + 3 cos x) + c

log(4 sinx + 6 cos x) + c
1

2

https://dl.doubtnut.com/l/_MIfRoo4JTryh
https://dl.doubtnut.com/l/_HvoKNed2nxUi


Answer: A

View Text Solution

34. Assertion (A)  


Reason ( R) 

A. Both A and R are true and R is the correct explanation

of A

B. Both A and B are true and R is not the correct

explanatiion of A

C. A is true but R is false

D. A is false but R is true

Answer: C

dx = + c
x2 − 1

x2

ex
2 + 1

x

ex
2 + 1

x

∫f ′ (x)ef ( x ) dx = f(x) + c

https://dl.doubtnut.com/l/_HvoKNed2nxUi
https://dl.doubtnut.com/l/_7OQbiyoI1i7x


View Text Solution

35. If , then g(x) is equal to

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

∫√ dx = g(x) + c
x

a3 − x3

cos − 1 x
2

3

sin− 1( )
2

3

x3

a3

sin− 1(√ )
2

3

x3

a3

cos − 1( )
2

3

x

a

36. If , then f(x) is equal to∫ = f(x) + c
dx

x2 + 2x + 2

https://dl.doubtnut.com/l/_7OQbiyoI1i7x
https://dl.doubtnut.com/l/_M1bWfXHxZ9hQ
https://dl.doubtnut.com/l/_03pUhQGT5vXa


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

tan− 1(x + 1)

2 tan− 1(x + 1)

−tan− 1(x + 1)

3 tan− 1(x + 1)

37. If +c, then f(x) is equal to

A. 

B. 

C. 

∫ dx = f(x)
sinx

cos x(1 + cos x)

∣
∣
∣

∣
∣
∣

1 − cos x

cos x

log
∣∣
∣

∣∣
∣

cos x

1 + cos x

∣
∣
∣

∣
∣
∣

sinx

1 + sinx

https://dl.doubtnut.com/l/_03pUhQGT5vXa
https://dl.doubtnut.com/l/_b6HbBMqCAE1f


D. 

Answer: A

View Text Solution

log
∣
∣
∣

∣
∣
∣

1 + sinx

sinx

38. If , then

k is equal to

A. 

B. 

C. 

D. 

Answer: C

∫(x49 )dx = k(tan− 1 (x50)
2

+ c)
tan− 1(x50)

1 + x100

1

50

−
1

50

1

100

−
1

100

https://dl.doubtnut.com/l/_b6HbBMqCAE1f
https://dl.doubtnut.com/l/_sZstwXOa8KxB


View Text Solution

39. If , then f(x) is

equal to

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∫ dx = f(x) − log(1 + x2) + c
sin− 1(2x)

1 + x2

2x tan− 1 x

−2x tan− 1 x

x tan− 1 x

−x tan− 1 x

40. ∫ = f(x) + c ⇒ f(x) =
dx

(x + 100)√x + 99

https://dl.doubtnut.com/l/_sZstwXOa8KxB
https://dl.doubtnut.com/l/_AKoPQlaO1ttz
https://dl.doubtnut.com/l/_ni9iQNbdoNeo


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2(x + 100)1 / 2

3(x + 100)1 / 2

2 tan− 1(√x + 99)

2 tan− 1(√x + 100)

41. 

A. 

B. 

C. 

∫ exdx = exf(x) + c ⇒ f(x) =
3 − x2

1 − 2x + x2

1 + x

1 − x

1 − x

1 + x

1 + x

x − 1

https://dl.doubtnut.com/l/_ni9iQNbdoNeo
https://dl.doubtnut.com/l/_WkNGHNVmkci3


D. 

Answer: D

Watch Video Solution

x − 1

1 + x

42. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ dx = − f(x) + c ⇒ f(x) =
√cot x

sinx cos x

2√tanx

−2√tanx

−2√cot x

2√cot x

https://dl.doubtnut.com/l/_WkNGHNVmkci3
https://dl.doubtnut.com/l/_4xjB8DiWr8cp


43. dx is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ ))
(1 + x) + √x ⋅ √1 + x

√x + √1 + x

√1 + x + c
1

2

(1 + x)3 / 2 + c
2

3

√1 + x + c

2(1 + x)3 / 2 + c

44. The integral  is equal to

A. 

∫(1 + x − )ex+ 1 /xdx
1

x

(1 + x)ex+x− 1
+ c

https://dl.doubtnut.com/l/_4xjB8DiWr8cp
https://dl.doubtnut.com/l/_fdqPudNZ2q1O
https://dl.doubtnut.com/l/_KmZ1N3ZZY8DI


B. 

C. 

D. 

Answer: D

Watch Video Solution

(x − 1)ex+x− 1
+ c

−xex+x− 1
+ c

xex+x− 1
+ c

45.  is equal to

A. 

B. 

C. 

D. 

∫
dx

1 − cos x − sinx

log∣
∣1 + cot( )∣

∣ + c
x

2

log∣
∣1 − tan( )∣

∣ + c
x

2

log∣
∣1 − cot( )∣

∣ + c
x

2

log∣
∣1 + tan( )∣

∣ + c
x

2

https://dl.doubtnut.com/l/_KmZ1N3ZZY8DI
https://dl.doubtnut.com/l/_638VYLMEqTvh


Answer: C

Watch Video Solution

46.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
dx

7 + 5 cos x

tan− 1( ) + c
1

√3

1

√3

tanx

2

tan− 1
⎛
⎜
⎜
⎝

⎞
⎟
⎟
⎠

+ c
1

√6

tan( )x

2

√6

tan− 1( ) + c
1

4

tanx

2

tan− 1( ) + c
1

4

tanx

2

https://dl.doubtnut.com/l/_638VYLMEqTvh
https://dl.doubtnut.com/l/_d86fV9egAjX2
https://dl.doubtnut.com/l/_kkQ6S9FZocDK


47.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
3xdx

√9x − 1

log∣∣3
x + √9x − 1∣∣ + c

1

log 3

log∣∣3
x − √9x − 1∣∣ + c

1

log 3

log∣∣3
x − √9x − 1∣∣ + c

1

log 9

log∣∣9
x + √9x − 1∣∣ + c

1

log 3

48.  is equal to

A. 

B. 

∫ )
dx

√x(x + 9)

tan− 1
√x + c

2

3

tan− 1( ) + c
2

3

√x

3

https://dl.doubtnut.com/l/_kkQ6S9FZocDK
https://dl.doubtnut.com/l/_SGsr0zKPPo1S


C. 

D. 

Answer: B

Watch Video Solution

tan− 1
√x + c

tan− 1( ) + c
√x

3

49. 

A. 

B. 

C. 

D. 

Answer: D

∫(x + 1)2
exdx =

xx
e + c

x2xv + c

(x + 1)ex + c

(x2 + 1)ex + c

https://dl.doubtnut.com/l/_SGsr0zKPPo1S
https://dl.doubtnut.com/l/_urvn9B16EPO6


Watch Video Solution

50. Evaluate the integerals. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ onR, a ≠ 0, b ≠ 0.
dx

a2 sin2 x + b2 cos2 x

+ c
1

ab

tan− 1(a tanx)

b

+ c
tan− 1(a tanx)

b

+ c
1

ab

tan− 1(b tanx)

a

+ c
tan− 1(b tanx)

a

https://dl.doubtnut.com/l/_urvn9B16EPO6
https://dl.doubtnut.com/l/_Bn8RRzPlA6px

